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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-10_0
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P3-10

BYiE) | GEBATK () | EBE (EA/#) | EREE B/ R) | XS SRR

08:10 288 150.0 28.875 FH| hHA@08:10 KRENFEF (KRATRELES)
08:50 288 150.0 28.875 FA| FHA@08:50 AFIEF (KAEZHSF)
09:45 288 150.0 28.875 FA| FiHA@09:45 KENFEF (KRFAAIEEES)
10:30 288 150.0 28. 875 FA| FiHA@10:30 KRHEF CRAKZRS)
11:10 288 150.0 28.875 FH| FhHA@11:10 KREFEF (RATREES)
11:50 288 150.0 28.875 FA| FHR@11:50 RHEF (RKRAEZRSD)
12:30 288 150.0 28. 875 FA| FiHA@12:30 KRHEF CRAZHS)
13:10 288 150.0 28. 875 FB| FiHR@13:10 KREFEF (KAFZHE)
13:50 288 150. 0 28.875 FA| FiHR@13:50 RHIEF (KAKZRSD)
14:30 288 150.0 28. 875 M| FiHAe14:30 KHIEF (KBHEES)
15:15 288 150.0 28. 875 FB| FiHR@15:15 KREFEF (KAFZHE)
16:10 288 150.0 28. 875 M| FiHEfe16:10 REIEF (RAEHE)
29t 3456.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.6

FEKECE (2007.0 vs 3840.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-10_0, Day=60 (2025-06-01)
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P3-10

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

06:35 283 150.0 28. 875 FE| 1BRi%@06:35 Bz (kBEREE)
07:35 283 150.0 28. 875 FA| {Ri&@07:35 Bzl (kAEREEE)
08:35 283 150.0 28.875 FH| 1RRi%@08:35 Bz (KA{ERSE)
09:45 283 150.0 28. 875 FE| 1BRi%@09:45 Bz (kBERSE)
10:55 283 150.0 28. 875 FH| 1Bi&@10:55 Bzh (RAEREE)
12:20 283 150.0 28.875 FA| 1BRi&e12:20 B3 (RAHERSE)
2411 1698.0 (6:%) 900. 0 3ESHKEC: 2080.0, PH: 5.6

TERRHER 2 STEEART (187.0 :

ZRIALBRIERE153.0 ml.

HEEIKECE (2087.0 vs 4433.0) i35

153.0), AlEEHT—@ % XA HS




P3-10_0, Day=59 (2025-05-31)

T e g g g S S B B

VI, V&RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1700
100 A

184

950 1 40

Warning: lcol [FVI',| "FVO’'] missing

- 2000

1490
1200 218

780 1000
40

200 -

150 A

100 A

50 A

FRV (ml plant-1)

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

]
300 4 Bylnit|@D60 01:53: ET=1411 Fg=1650.0 Ro=327.0

1
1
1
200 - i
1
1
1
I

ET (ml/hr/plant)

100 A

-

- 500
\I\\ -
0

- 2000

- 1500

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12

=t

—_
N

—_
($;]

20 21 22 23

FH | BA [ BA | FA | BA [ BA | PR | BA | BH | BA | BA [ FH | FA

LB LB LB |00

ByEt @D59 19:03: ET=995 Fg=1194. 0 Ro=nan

ET (ml/hr/plant)

- 1500

4 4 @ ®
\ 4 \ 4 4 \ - 1000

- 500

0 1 2 3 4 5 6 7 8 9 10 11 12

13

14

15

19

20 21 22 23

FH | BA [ BA | FA | BA [ BA | FA | BA | BH | BA | BA [ FH | PFA

K

IINFR

INFR

INFR

INFR

Z=| B | B 1221 0000

]
ByWon:@DGO 01:53: ET=780 Fg=900.0 Ro=182.0

ET (ml/hr/plant)

1)
1
1
100 - I
1

P e i S s N—" — ]\/

- 1500

8 8 ' ' - 1000

- 500

0 1 2 3 4 5 6 7 8 9 10 11 12

14

15

16

17

18

19

20 21 22 23

0gl P | W | 78 | A | M | 78 | W | M | P8 | W | ||

K

IINFR

INFR

A

A

INFR

INFR

5| A | BB | %=

0.6

0.4+

0.2~

808 3
400

200 ~

—_— 4
[ ] | _obs
—@— PPFD obs

25.0 4

22.5 -

20.0

17.5

15.0 A

80 A

RH
601 @ RH_obs

(] RHo_obs '

e v P

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



27.

27.

27.

27.

26.

26.

26.

27.

27.

217.

27.

26.

26.

26.

28

27 A

26 A

25 -

24

——

M_E

400

T T
600 800 1000

m=580,m FV0=0

—o— ME

5é5 5é0
m=975,n FV0=0

75 A

50 -

25 A

00 ~

75 -

50 A

25 -

—o— ME

i
iif

44

9é0 9é5
m=525,n FV0=0

43 -

42

41

40 -

- MW

\
i
7

528 530 532

m

526

25.25 A

25. 00

24.75 A

24.50 A

24.25 A

24.00 A

27.6 A

27. 4 -

27.2 A

27.0 -

26. 8 -

26. 6

46 -

44 -

42

40 -

38

36 -

34 -

44 -

43 -

42

41 -

m=420, FV0=0

M_E

4é5 450
m=640,n FV0=0

T
420

—o— M_E

=

645 650

—o— MW

600 800 1000

m=580,m FV0=0

400

- MW

580 585 590

26.

26.

26.

25.

25.

25.

27.

27.

27.

27.

26.

26.

m=460, FV0=0

50 A

25 A

00 ~

75 1

50 A

25 -

M_E

4é5 4%0
m=700,n FV0=0

460

75 -

50 A

25 A

00 -

75 -

50 A

—o— M_E

765 7%0
m=420,n FV0=0

40 -

38 -

36

34 -

—— MW

4&5 4é0
m=640,n FV0=0

420

45 A

44

43 -

42 -

41

-— MW

640 645 650

27.

27.

26.

26.

26.

26.

217.

21.

27.

26.

26.

26.

26.

m=525, FV0=0

25 H

00 -

75 A

50 -

25 A

00 -

M_E

T T T
528 530 532

m=845,m FV0=0

T
526

50

25 A

00 -

75 A

50 -

25

00 -

—o— M_E

i

850 865
m=460,n FV0=0

43 A

42

41 -

40 -

39 A

38

—— MW

465 4%0
m=700,n FV0=0

460

45 -

44

43 -

42

41 -

—— MW

700 705 710




m=845, FV0=0

—— MW
45
44
43
42
T T T
845 850 855

m=975, FV0=0
—o— MW

45 -
44 -
43 4
42

T T T

975 980 985




hour

100

80

- 60

- 40

§_

“

%

%
‘e

»
%

\ R
N N
S
Q\z\ %7\

25

N
%,
X
L e
N

4

2

%

&

£

%,
&

At ’@(26_.?
%

%



P3-10

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

06:35 283 150.0 28. 875 FE| 1BRi%@06:35 Bz (kABERSE)
07:20 283 150.0 28. 875 FH| 1BRi%@07:20 Bzh (KRABERSE)
08:20 283 150.0 28.875 FE| 1BRi%@08:20 B (FkAfEREE)
09:30 283 150.0 28. 875 FE| 1BRi%@09:30 Bz (kBERE)
10:30 283 150.0 28. 875 FA| {Ri&@10:30 Bzl (GkAEEEE)
11:20 283 150.0 28.875 FA| 1Ri%@11:20 Bzh (kAERSE)
12:00 283 150.0 28. 875 FH| 1Ri%@12:00 Bz (kAERSE)
12:40 283 150.0 28. 875 FA| {Ri&e@12:40 Bz CGRAEEEE)
13:20 283 150.0 28. 875 FH| 1Ri%@13:20 B3h (KAERSE)
14:10 283 150.0 28. 875 FH| 1BRige14:10 Bzh (RAMEEEE)
15:20 283 150.0 28. 875 FH| 1Bi&e15:20 Bzh (RAERES)
16:40 283 150.0 28.875 FH| 1Ri%@16:40 B3h (KAERSE)
23t 3396.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.6

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEIHECE (2220.0 vs 4753.0) 45

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=58 (2025-05-30)

T g e g g S S B S

100 A

50

(¢
200 -
150 -

100 A

V1, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2300

558

60

Warning: lcol ['FVI’,

"FVO' ] missing

1700 800

50 -

Warning: lcol ['WC1’,

"WC2' ] missing

2208

539

40

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

HO
o
(& =)
=l

300

200 -

100 -

1
Bylnit|@D60 01:53: ET=1904 Fg=2250.0 Ro=463.0

0

5

6

10

o= T
w O
o

=

- 3000

- 2000

T
—_
o
o
o

N
o
M_E

T
N
[=>]

T
N
ES

3000

- 2000

- 1000

18

19

20

21

22 23

%=

ER

i

i

[

i

E3
B

E3
B

ES
5]

=
B

E3
B

E3 ES
B 5]

300

200 -

100 -

S —" Y
408 1

ByEt @D58 16:06: ET=1391 Fg=1800. 0 Ro=nan

6

7

8

9

10

11

PN

12

13

3000

- 2000

- 1000

14

15

20

21

22 23

3000

%=

ER

%=

A

A

A

FA

A

A

A

FA

A

A

A

FA

A

%=

ER

%=| M

300

200 -

100 -

1.0

]
ByWon:@DGO 01:53: ET=1535 Fg=1800.0 Ro=359.0

b— ———B———9——O—
i — ——

- 2000

- 1000

0.8

%=

A

A

A

0.6

0.4+

0.2~

1808 1

|
| _obs
PPFD_obs

80 A

60 -

40 ~

RH
RH_obs
RHo_obs

o VPD

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=420, FV0=0 m=460, FV0=0 m=530, FV0=0
270 27.75 4
—e— ME —o— ME : —o— ME —e— ME
29 25.75
96. 8 - 27. 50 -
] 25. 50 -
28 26. 6 - 27. 25 A
25. 25 -
27 A 26. 4 - 27.00
25. 00 -
26 26. 2 26. 75
24. 75 -
25 | 26 0 N 26 50 .
24. 50 -
T T T T T T T 25 8 L T T T 26 25 - T T T
400 600 800 1000 420 425 430 460 465 470 530 535 540
m=595,m FV0=0 m=645,m FV0=0 m=690,m FV0=0 m=725,m FV0=0
21.0 1 _o— ME —o— ME —— NE —e— WNE
4 29.0
27.25 28. 0 - 28.5
27.00 -
28.0 28.5 1
26. 75 27.5 -
26. 50 -
27.5 28.0
26. 25 27.0 1
26. 00 27.5 -
T T T T T T T T T
600 605 650 655 695 700 725 730 735
m=760,m FV0=0 m=795,m FV0=0 m=835,m FV0=0 m=885,m FV0=0
29. 25 - ME - MFE —-e— ME i —— ME
29. 00
29. 25
29. 00 - 29.0 - 28. 75 -
29. 00
28. 75 - 98, 50
28. 75 -
28. 50 28.5 28. 25
28. 50 -
28. 25 - 28. 00
28. 25 28.0
28. 00 - 97 75
27 75 B T T T 28 00 L T T T T T T T T T
760 765 770 795 800 805 835 840 845 885 890 895
m=955,m FV0=0 m m=420,m FV0=0 m=460,m FV0=0
—— ME 441 —@— MW N1 o= mw —— MW
43
28.5 40 A
42
39
42
28.0 40 7 38
38 - 37 - 41 1
27.5
36
36 - 40 4
955 960 965 400 600 800 1000 420 425 430 460 465 470



m=530, FV0=0

43 A

42

41 -

40 -

39 -

—0—

M_W

530

555 5&0
m=725,n FV0=0

44

43 -

42

41 -

40 -

—— MW

725

7é0 755
m=885,n FV0=0

44 -

43 -

42 ~

41 -

—0—

M_W

885

890 895

m=595, FV0=0
—— MW
43
42
41
40 -
T T T
595 600 605
m=760,m FV0=0
14 —— MW
43
42
41
T T T
760 765 770
m=955,m FV0=0
14 —— MW
43
42
41
955 960 965

m=645, FV0=0

44 -

43 4

42 -

41 -

40 ~

—0—

M_Ww

645

T T
650 655

m=795,m FV0=0

44 -

43 A

42

41 -

—0—

M_W

795

800 805

m=690, FV0=0

44

43 -

42

41 -

40 -

—o—

M_w

T
690

T T
695 700

m=835,m FV0=0

44

43 -

42

41

—o— MW

T
835

840 845




hour

:35
115
:00
140
115
:50
:30

R AR
§§ @(zf% %ﬁ.“ @”3\\
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P3-10

BYiE) | GEREK G | Ele (EA/E) | EREE B/ R | X8R SRR

07:10 283 150.0 28.875 BE| {Ri&e07:10 Bzl (REAEEE)
07:50 283 150.0 28. 875 BE| 1Ri%e07:50 B (RF{EREE)
09:00 283 150.0 28.875 | =| {Ri&@09:00 Bzl (KREERHSE)
09:50 283 150. 0 28.875 | =| {Ri%e09:50 Bzl (REAEHE)
10:35 283 150.0 28.875 | =| {Ri&e10:35 Bz (REAEHE)
11:15 283 150.0 28.875 | =| {Bi&et11:15 Bz (REEESE)
12:00 283 150.0 28.875 (& =| 1Rige12:00 B3h (REAEESE)
12:40 283 150.0 28.875 | =| {Ri&e12:40 Bz (REAEHE)
13:15 283 150.0 28. 875 | Rige13:15 Bal (REAEESE)
13:50 283 150.0 28.875 B 1Rige13:50 Bah (REAEESE)
14:30 283 150.0 28.875 BS| 1Ri%e14:30 B3 (GREMEESE)
15:10 283 150.0 28. 875 Bl Rige15:10 Bal (REEESE)
15:55 283 150.0 28.875 B 1Rige15:55 Bah (REEESE)
17:00 283 150. 0 28.875 FB| {Rige17:00 Bz (GRAFERSE)
21t 3962.0 (14)%) 2100.0 32 UHIKEC: 2080.0, PH: 5.6

TERRHLER 2 STEEARTF (184.0 :

ZRIAEBRERE150. 0 ml.

HEEIKECE (2323.0 vs 4747.0) 35

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1

1

2

1

1

200

100 A

231 0 [ 11 2131415 ] 6] 78] 09 10]0

300 -
200
100 A

1.
0.8
0.6
0.4+

0.2~

P3-10_0, Day=57 (2025-05-29)

50 A
00 A

50

(¢
00 A
50 A
00 A

50 -

VI,VE%;QRV,ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 2944
400
9100 2300

499

60

Warning: lcol [FVI',| "FVO’'] missing

- 3000

- 2000

- 1000

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0 P

4004 O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

1
Bylnit|@D60 01:53: ET=1568 Fg=1950.0 Ro=415.0

7
- 3000
- 2000

- 1000

HHE E3 HEE Hi HHE HEE HEE Hi HHE HEE E3 ES = E3 HEE ES = E3 E3 ES = E3 E3 ES
B B B 5] B B B 5] B B B 5] B B B 5] B B B 5] B B B 5]

- 3000

1
ByEt @D57 19:07:ET=1745 Fg=2400. 0 Ro=nan ﬂ

) —o—0—0—0 60—

- 2000

- 1000

13 14 15 16 17 18 19 20 21 22 23

12
BB | s | B[ | B[k | B[R |BIZZ|ZE[(ZZ|ZE[ K | KB [ KB || W | A | B | BB |H|Z=

- 3000

]
ByWon:@DGO 01:53: ET=1779 Fg=2100.0 Ro=425.0

- 2000

- 1000

0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

BB | s | B[ | B[ | B[R |BIZZ|ZE[(ZZ|ZE[ kK | B [ K || B | A | B | BB |H|Z=

|
| _obs
PPFD_obs

RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



29.

29.

28.

28.

30.

30.

29.

29.

30.

30.

30.

29.

29.

29.

29.

24

T
400

T T T
600 800 1000

m=600,m FV0=0

—0— ME

665 6%0
m=740,n FV0=0

—o— ME

i
i

7&5 760
m=860,n FV0=0

50 A

25 -

00 ~

75 -

50 A

25 A

00 -

-o— ME

iy
i
i

865 870

25.

24

24.

24.

24.

23.

23.

30.0 A

29.5 A

29.0 -

30.

30.

30.

29.

29.

29.

29.

30.

30.

29.

29.

29.

29.

28.

m=435, FV0=0

00 A

75 A

50 -

25 A

00 -

75 -

50

M_E

440 445
m=635,m FV0=0

—o— M_E

6&0 6&5
m=770,n FV0=0

50 A

25 ~

00 A

75 A

50 -

25 A

00 -

M_E

—0—

7%5 7é0
m=895,n FV0=0

770

25

00 -

75 1

50 A

25 H

00 -

75 -

—o— M_E

895 900 905

26.

26.

26.

26.

25.

25.

25.

30.

30.

29.

29.

30.

30.

29.

29.

30.

29.

29.

28.

m=475, FV0=0

75 1

50 A

25 -

00 A

75 -

50 A

25 -

M_E

450 4é5
m=670,n FV0=0

475

5 4

0_

—o— ME

6;5 6é0
m=800,n FV0=0

5 4

0_

—o— ME

865 8%0
m=935,n FV0=0

800

0_

-o— ME

940 945

29.

28.

28.

27.

30.

30.

29.

29.

30.

30.

29.

29.

29.

29,

28.

m=540, FV0=0
o —o— NE
5 -
0 -
5 -
540 545 550
m=705,m FV0=0
57 —o— NE
0 -
5 -
0 -
705 710 715
m=830,m FV0=0
5 —o— ME
0 -
5 -
0 -
830 835 840
m=975,m FVO=0
—o— ME
5 -
0 -
5 -

975 980 985




m=1040, FV0=0 m=435, FV0=0 m=475, FV0=0

—o— ME M1 e MW 381 —o— MW —— MW
41
29.0 1 42 1 37 -
40 36 - 40 -
28.5 38 A 35 - 39
36 1 34 -
38 -
28.0 - 34 - 33
37 -
32 4 39
T T T T T T T T T T T T T T T T
1040. 0 1042.5 1045.0 1047.5 1050. 0 1052. 5 400 600 800 1000 435 440 445 475 480 485
m=540,m FV0=0 m=600,m FV0=0 m=635,m FV0=0 m=670,m FV0=0
42 —— MW 4 —— MW . —— MW —— MW
43
41 -
41 42
40 40 4 42
41
39 1 39 A 41 -
40
38 3g -
40
T T T T T T T T T T T T
540 545 550 600 605 610 635 640 645 670 675 680
m=705,m FV0=0 m=740,m FV0=0 m=770,m FV0O=0 m=800,m FV0=0
—— MW —— MW —— MW —— MW
43 43 1 43 43
42
42 1 42 - 492 -
i 41
41 41 41 -
40 L T T T 40 L T T T T T T T T T
705 710 715 740 745 750 770 775 780 800 805 810
m=830,m FV0=0 m=860,m FV0=0 m=895,m FV0=0 m=935,m FV0=0
44 4
—— MW —— MW —— MW —o— MW
43
43 43 43 -
42
42
42 492 -
41
41
41 41
40
40
830 835 840 860 865 870 895 900 905 935 940 945



m=975, FV0=0

—— MW
43
42
41 -
40 L T T T
975 980 985

m=1040, FV0=0

43 -

42 -

41

40 -

—0—

M_W

T T T T T T
1040.0 1042.5 1045.0 1047.5 1050.0 1052.5

m




hour

125
:00
:35
110
145
:20
:00
140

:05
:05
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P3-10

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:10 283 150.0 28.875 el {Ri&e07:10 Bzl (REAEEE)
07:45 283 150.0 28. 875 RS {Ri&e07:45 Bz (REAERE)
08:55 283 150.0 28. 875 BE| {Ri&e08:55 B (REEEE)
09:45 283 150.0 28.875 RS {RRi&e09:45 B (REAEHE)
10:25 283 150.0 28.875 BS| 1Ri%e10:25 Bz (GGREMEESE)
11:00 283 150.0 28. 875 Bl Rige11:00 Bal (REEESE)
11:35 283 150. 0 28. 875 BE| Rige11:35 Ba) (REAEHSE)
12:10 283 150.0 28.875 Bl Rige12:10 Bz (REAERE)
12:45 283 150.0 28. 875 BE| Ri%e12:45 Bz (GREAEREE)
13:20 283 150.0 28. 875 B Ri&e@13:20 Bz (REAERSE)
14:00 283 150.0 28.875 BE| Rige14:00 Bz (REAEHE)
14:40 283 150.0 28. 875 e Rige14:40 Bz (REAERSE)
15:20 283 150.0 28. 875 el Rige15:20 Ba) (REAEESE)
16:05 283 150.0 28.875 el Rige16:05 BHa (REAEHE)
17:05 283 150.0 28. 875 BE| Rige17:05 Bz (REAERSE)
Bit| 4245.0 (15%%) 2250.0 3 WH%EC: 2080.0, PH: 5.6

MERRNERE STREAERE (184.0 : 147.0), AEeHF—RZ XA45
ZRIN L PRIERE147.0 ml.
#[ERECZE (2400. 0 vs 4563.0) id 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=56 (2025-05-28)

1MfF———————Trr——_——_——_——_—— ] - 3000
V1, VO #RYV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576

] 83 2000
19017600 fs03

50 A - 1000

60 20
Warning: lcol [FVI',| "FVO’'] missing

(¢
200 -
150 -
100 A

50 -

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

1
3004 Byinit!eD60 01:53: ET=1658 Fg=2100.0 Ro=445.0 3000

200 - 2000

100 - - 1000

0 P

300 4 0 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22 23
ES = e e ES [ES e e ES [ES = = = = = = = = = = = = = =
B B B B B B B B B B B B B B B B B B B B B B B B

ByEt @D56 19:06: ET=1697 Fg=2016.0 Ro=nan . I

3000

200 *—o—© ® - 2000

100 - - 1000

07 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 4
A I O I O O O O I I I I

]
ByWoFyv 1@D60 01:53: ET=1838 Fg=2250.0 Ro=448.0 P *—o——@ ®
I > - 2000

5 T 2
’ il

200

100 -

0.8

0.6

0.4+

0.2~

0.0
1500 -

|
[ ] | _obs
—@— PPFD obs

1000

500 -

80 A

60

RH
404 @ RH_obs
[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=450, FV0=0 m=495, FV0=0 m=535, FV0=0

—&— ME —&— ME —8— ME
25.5 27.5 - 29.5
25.0 27.0 4 29.0 +
24.51 26.5 28.5
247 24.0 -
T T T T T T T T T T T T
600 800 1000 450 455 460 495 500 505 535 540 545
m=590,m FV0=0 m=635,m FV0=0 m=675,m FV0=0 m=710,m FV0=0
—&— ME 30.0 - —— ME —&— ME 30.5 - —&— ME
30. 0
29. 5 ~
29.5 ~ 30. 0 ~
29. 5
29. 0 A
29.0 29.5 ~
29.0 +
28. 5
28. 5 29.0 A
T T T T T T T T T T T T
590 595 600 635 640 645 675 680 685 710 715 720
m=745,m FV0=0 m=780,m FV0=0 m=820,m FV0=0 m=855,m FV0=0
30.5 4 —@— ME 30.5 —&— ME —&— ME —— ME
30. 0 + 30.0 4
30. 0 + 30. 0 ~
29.5 29 5 -
29. 5 ~ 29.5 ~
29.0 +
29.0 ~
29.0 A 29.0 A
745 750 755 780 785 790 820 825 830 855 860 865
m=890,m FV0=0 m=930,m FV0=0 m=980,m FV0=0 m
30.5 A @ M_E —— M_E —— M_E
30. 0 A 42 -
29. 5 ~
30. 0
40 A
29. 5 -
29.0 +
29.5 ~ 38
29.0 A
28. 5 36 -
29.0 ~
—o— MW
T T T T T T T T T 34 T T T
890 895 900 930 935 940 980 985 990 600 800 1000



m=450, FV0=0

—— MW
39 4
38
37 4
36
35
T T T
450 455 460
m=635,m FV0=0
—— MW
42
41 -
40 -
39
T T T
635 640 645
m=780,m FV0=0
—— MW
42
41
40 -
780 785 790
m=930,m FV0=0
—— MW
42
41 -
40 -

930 935 940

m=495, FV0=0
42 —— MW
41 -
40 -
39 -
38 L T T T
495 500 505
m=675,m FV0=0
437 —— MW
42 -
41 -
40 -
655 aéo 6é5
m=820,m FV0=0
42 - - MW
41 -
40 -
39 -
850 8&5 séo
m=980,m FV0=0
—— MW
42 -
41 -
40 -
39 -

980 985 990

m=535, FV0=0 m=590, FV0=0
43
—— MW —— MW
1 42 -
41 -
41 1
40 -
40 -
39 -
T T T T T T
535 540 545 590 595 600
m=710,m FV0=0 m=745,m FV0=0
43 - —o— MW 43 7 —o— MW
42 421
41 417
40 - 40 1
T T T T T T
710 715 720 745 750 755
m=855,m FV0=0 m=890,m FV0=0
—o— MW —o— MW
42 -
42 -
41 1
41 -
40 -
40 -
39 -
855 860 865 890 895 900




